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+2 Acc Mdu. Dist. II Midterm Key Ap 2021 
rhpahd tpil                   20X1=20 
1. (,) rpwpa mstpyhd jdpahs; tzpfk;   
2. (,) ,J midj;J tifahd mikg;GfSf;Fk; nghUe;Jk;  
3. (M) Fwpg;gpl;l Nehf;f mwpf;if 
4. (M) nrhj;J f/F    
5. (,) cghp kw;Wk; gw;whf;Fiw     
6. (M) chpa Fwpg;Ngl;L rhd;whtzk;     
7. (,) ,uz;Lk; m kw;Wk; M 
8. (M) Kjy; kPJ tl;b 7% mDkjpf;f Ntz;Lk;       
9. (,) ruhrhp ,yhgk; kw;Wk; rhjhuz ,yhgk;      
10. (m) & 36000     
11. (,) 5:3       
12. (m) midj;Jf; $l;lhspfspd; Kjy; f/F     
13. (,) i kw;Wk; ii rhpahdJ 
14. (,) $l;lhsp tpyFk; ehs; tiuf;Fk;    
15. (M) el;lk;   
16. (<) fhg;G Kjy;               
17. (M) xU Fwpg;gpl;l ehSf;Fhpa    
18. (m) gzk; rhuh jfty;fs;   
19. (M) tpfpjk;    
20. (m) chpikahsh; tpfpjk;     
VNjDk; 7 tpdhf;fSf;F tpilasp   7X2=14 
21.  nkhj;j fldhspfs; f/F 

 
22. rpgp 
= fopTf;F Kd; epfu yhgk; X fopT tPjk; 
                           100 
= 60000 X 20 = & 12000 
        100 
kNdh[; 
= fopTf;F gpd; epfu yhgk; X fopT tPjk; 
                        100+fopT tPjk; 
= 48000 X 20 = & 8000 
         120 
23. ruhrhp ,yhgk; = nkhj;j ,yhgk; 
                 Mz;Lfspd; vz;zpf;if 
= (10000 + 11000 + 12000+ 13000 + 14000)   
                5          
= & 12000 
ew;ngah;  = ruhrhp ,yhgk; x nfhs;Kjy; Mz;Lfspd;            
                        vz;zpf;if 

= 12000 X 2  = & 24000 
 
24.    Fwpg;Ngl;Lg; gjpTfs; 
mQ;ryp Kjy; f/F g. 
epj;ahtpd; Kjy; f/F g.     
            ,/e f/F  

25000 
15000 

 

 
 

40000 

 

25.      Mjha tpfpjk;  
   = Gjpa gq;F - gioa gq;F 
khyh = 3    -   2     =      1 
       5       5            5  
ePyh = 2    -   1     =      1 
      5       5            5  
Mjha tpfpjk; =   1 :  1 
26. gq;F: xU epWkj;jpd; Kjy;> Fwpg;gpl;l 
gzkjpg;gpyhd gy myFfshf gphpf;fg;gl;L 
xt;nthU myFk; gq;Ffs; vd 
miof;fg;gLfpd;wd.  gq;Ffs; ,U 
tifg;gLk;.  1. Neh;ikg; gq;Ffs;  2.  
Kd;Dhpikg;gq;Ffs; 
27. VNjDk; ehd;F fzf;fpay; mwpf;iffs; 
ehNsL> Fwpg;NgL> NgNuL> ,Ug;gha;T> ,yhg 
mwpf;if> ,Ug;G epiyf;Fwpg;G> nuhf;f Xl;l 
mwpf;if. 
28. epjpepiy mwpf;if gFg;gha;tpd; fUtpfs;: 
xg;gPl;L mwpf;if> nghJ msT mwpf;if> 
Nghf;Fg; gFg;gha;T> epjp Xl;lg; gFg;gha;T> 
nuhf;f Xl;lg; gFg;gha;T 
29. tpiuT tpfpjk; =  ePh;ikr; nrhj;Jf;fs; 
                   elg;G nghWg;Gfs; 
ePh;ikr; nrhj;Jf;fs; = 450000 - (70000 + 20000)  
                                          = 360000 
 tpiuT tpfpjk; =360000  = 1.5 : 1 
              240000 
30. capy; nfhil: xUthpd; capy; %ykhf 
,yhg Nehf;fkw;w rq;fq;fSf;F mspf;fg;gLk; 
ghpR capy; nfhil MFk;.  ,J xU Kjypd 
tuthFk;. 
VNjDk; 7 tpdhf;fSf;F tpilasp   7X3=21 
31. ngUf;Fj; njhif Kiwapy; vLg;G kPJ tl;b 
vLg;G 
ehs; 

vLg;G 
njhif 

tl;bFhpa 
fhyk; 

ngUf;Fj; 
njhif 

gpg; 1 2000 11 22000 
Nk  1 10000 8 80000 
[Piy 1 4000 6 24000 
mf; 1 6000 3 18000 
         nkhj;jnjhif           144000 
vLg;G kPJ tl;b =  
  nkh.ngUf;Fj;njhifXtl;btPjk; X    1; 
                            12 
= 144000 X6 X 1  = & 720 
       100  12 
32.        ,Ug;G epiyf; Fwpg;G 
tpNghepjp 90000  njhlh; 

KjyPL 
 90000 

(+)KkPt  9000     
 99000     
(+)ed; 10000     
 109000     
(-) 
tpNgnr 

 
60000 

 
49000 

   

tptuk; njhif tptuk; njhif 
njhlf;f fl 100000 ngw;w nuh  230000 
fld; tpw; 280000 msp js;   5000 
  cs; jpU  25000 
  ,Wjp fl 120000 
 380000  380000 
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33. .     tUtha; nrytpd f/F 
nryTfs; & tUkhdk; & 
     2018Mk; Mz;by; ngw;w re;jh 16000 
  $l;Lf 

2018 ngw Ntz;ba re;jh 
2017y;Kd;$ ngw;w re;jh 

 
4000 
2000 

   22000 
  fopf;f 

2017 f;fhd re;jhngw;wJ 
2019f;fhd ngw;w re;jh 

 
3000 
5000 

  2018y; re;jh %yk; ngw;w 
tUkhdk; 

14000 

34.  
cah; ,yhgk;  
= ruhrhp ,yhgk; - rhjhuz ,yhgk; 
=  14000 – 4000=  & 10000 
ew;ngah;  = cah; ,yhgk; x Mz;Lj; njhif kjpg;G 

= 10000 X 3.352  = & 33520 
35.           Nfhtpe;    Nfhghy;   
gioa yhggfpHT =  5      :      4       
gioa gq;F  =         5    :       4              
                 9     9 
jpahf gq;F = gioa gq;F xjpahfgq;F tpfpjk; 

       :   5 x  2 :      4 x   1    
          9   9         9   9      
                          =10  :      4    

                                       81      81      

jpahf tpfpjk; = 10 : 4  = 5: 2 
Gjpa yhgg; gq;F =gioagq;F – jpahf gq;F 
   
             =    5 -  10  :   4 -  4 
                                      9   81       9   81 
                                 =45-10     :   36   -   4 
                                       81               81 

        =          35 : 32 
                 81  81 
,u P̀kpd; Gjpa gq;F =    10 +   4  
                    81  81 
Gjpa yhgg; gq;F =  35 : 32  14 

 81  81  81 
 

                              =  35 : 32  14 
36. KOikngwh gjpNtLfspd; FiwghLfs;(3)  
gjpNtLfs; KOikahfg;g guhkhpf;fg;gLtJ 
,y;iy.  
,Ug;gha;T jahhpg;gJ fbdk;.  
cz;ikahd ,yhgk; fz;lwptJ fbdk;. 
cz;ikahd epjpepiyia fz;lwptJ fbdk;. 
jtWfs; kw;Wk; Nkhrbfs; fz;lwptJ fbdk;. 
rl;l Njitia g+h;j;jp nra;a muR kw;Wk; 
gpw mjpfhhpfSf;F Vw;Gilajy;y 
 
 
 
 

 
37.mbg;gil rhjhuz gq;Ffs; Kd;Dhpik 

gq;Ffs; 
gq;fhjhak; 
toq;Fjy; 

Kd;Dhpik 
gq;FfSf;F 
toq;fpa gpd; 
toq;fg;gLk;. 

gq;fhjhak; 
ngWtjpy; 
Kd;Dhpik 

gq;fhjha 
tPjk; 

,yhgj;jpw;F Vw;g 
khWjy; 

epiyahd 
tpOf;fhL kl;LNk 
toq;fg;gLk;. 

gq;F khw;Wk; 
jd;ik 

gq;F khw;Wk; 
jd;ik ,y;iy 

rhjhuzgq;Ffshf 
khw;w KbAk;. 

Kjiy 
jpUk;g 
ngWjy; 

epWkfiyg;gpd; 
NghJ Kd;Dhpik 
gq;FfSf;F 
toq;fpa gpd; 
toq;fg;gLk;. 

gq;F Kjiy 
jpUk;gg; ngWtjpy; 
Kd;Dhpik 

Cf;f kw;Wk; 
chpik 
gq;Ffs; 

Vw;fdNt cs;s 
gq;Ffspd; 
mbg;gilapy; 
toq;fg;gLk;. 

,jw;F 
nghUe;jhJ. 

38. Tally ERP 9 y; nghJthf gad;gLj;jg;gLk; 
rhd;whtzq;fspd; tiffs;: eltbf;iffspd; 
tptuq;fis nfhz;Ls;s xU MtzNk 
rhd;whtzkhFk;.  ngWjy; rhd;whtzk;> 
nrYj;Jjy; rhd;whtzk;> vjph; gjpT 
rhd;whtzk;> nfhs;Kjy; rhd;whtzk;> 
tpw;gid rhd;whtzk;> chpa Fwpg;NgL 
rhd;whtzk;. 
39. KjyPL kPjhd tUtha; =  
tl;b kw;Wk; thpf;F Kd;dh; cs;s epfu,yhgk;  X 100;  
gad;gLj;jg;gl;l Kjy; 
 
gad;gLj;jg;gl;l Kjy; =  
gq;F Kjy;;; + fhg;G kpFjp + ePz;lfhyf; fld; 
= 200000 + 50000 + 150000 
= 400000 
KjyPL kPjhd tUtha;  
= 60000 X100   = 15% 
 400000    

40. 
mbg;gil 

jpahf tpfpjk; Mjha tpfpjk; 

nghUs; Gjpa 
$l;lhspf;F 
gioa 
$l;lhspfs; 
jpahfk; nra;Ak; 
,yhg gq;F 

njhlUk; $l;lhspfs; 
tpyFk; 
$l;lhspfsplkpUe;J 
ngWk; Mjha gq;F 

Nehf;fk; jpahfk; nra;Ak; 
$l;lhspf;F 
ew;ngah; 
njhifia 
rhpnra;a 

Mjhak; ngWk; 
$l;lhspf;F ew;ngah; 
njhifia rhp nra;a 

fzf;fp
Lk; 
fhyk; 

$l;lhsp 
Nrh;g;gpd; NghJ 

$l;lhsp tpyFk; NghJ 

Kiw jpahf tpfpjk; = 
gioa tpfpjk; - 
Gjpa tpfpjk; 

Mjha tpfpjk; = Gjpa 
tpfpjk; - gioa 
tpfpjk; 
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midj;J Nfs;tpfSf;Fk; tpilasp: 7X5=35 

41.m. g.         ng. kh. rP f/F       t. 
,Ug;G fP/nfh 60000 ,Ug;G fP/,  90000 
  nuh. ngw;wJ 160000 
Vw;fg;gl;lJ 205000 kWf;fg;gl;lJ  15000 
 265000  265000 

gw;gy fldhsp f/F 
,Ug;G fP/nfh 250000 ngw;wnuh 725000 
ngkhrP kWf;   15000   ngkhrP Vw;f 205000 
fld;tpw;gid  985000   thuhfld;  30000 
    cs;jpUg;gk;  50000 
   ,Ug;G fP/, 240000 
 1250000  1250000 
nkhj;jtpw;gid = 985000+315000 = 1300000 
41.M. rhpf;fl;lg;gl;l ,yhgk;  
tptuk; 2016 2017 2018 
,yhgk; 25000 23000 26000 
fopf;f jpUk;g jpUk;g 
epfoh tUkhdk; 

 
2500 

  

$l;Lf jPapdhy; 
Nrjkile;jhy; (mrhjhuzel;lk;) 

22500 23000 
3500 

26000 

rhpf;fl;Lf;Fg;gpd; ,yh 22500 26500 26000 
ruhrhp ,yhgk; = nkhj;j ,yhgk; 
                 Mz;Lfspd; vz;zpf;if 
          = (22500 + 26500 + 26000)  
                    3 
         =  & 25000 
ruhrhp ,yhgk;  25000 
(-) vjph;fhyj;jpy; nr Nt fhg;gPL   250 
ruhrhp ,yhgk;  24750 
ew;ngah;  = ruhrhp ,yhgk; x nfhs;Kjy; Mz;Lfspd;            
                        vz;zpf;if 

= 24750 X 2  = & 49500 
42.m. g.         nr. kh. rP f/F       t. 
,Ug;G fP/, 80000 ,Ug;G fP/nfh  60000 
nuh. nrYj; 100000 Vw;fg;gl;lJ 120000 
 180000  180000 

gw;gy fldPe;Njhh; f/F 
nrY. nuh 370000 ,Ug;G fP/nfh 75000 
nfh.jpU  15000 fld; nfh 480000 
nrkhrP Vw;  120000   
,Ug;G fP/, 50000   
 555000  555000 
nkhj;jnfhs;Kjy; = 320000+480000 = 800000 
42.M.   Fwpg;Ngl;Lg; gjpTfs; 
tptuk; gw;W & tuT & 
,ae;jpu f/F g. 
      kWkjpg;gPl;L f/F  

30000  
30000 

 
tptuk; gw;W & tuT & 
kWkjpg;gPl;L g. 
      miwfyd; f/F  

10000  
10000 

 
 

 
tptuk; gw;W & tuT & 
kWkjpg;gPl;L g. 
  Iaf;fld; f/F  

2000  
2000 

 
tptuk; gw;W & tuT & 
gjpTwh KjyPL f/F g. 
      kWkjpg;gPl;L f/F  

30000  
30000 

kWkjpg;gPl;L f/F 
miw 10000 ,ae;jpuk; 30000 
Iaf;fld; 2000 gjpTwh 30000 
kWkjpg; ,yhg 
re;JU Kjy; f/F 
tp\hy; Kjy; f/F 
ukzd; Kjy; f/F 

 
 
 

48000 

  

nryTfs; & tUkhdk; & 
thlif nr 12000 muq;f thlif 6000 
mr;R fl;lzk; 5000 re;jh ngw;wJ 9000 
tq;fpfl;lzk; 1000 ngl;lf thlif 2000 
fhg;gPL 2000   
jzpf;if  3000 gw;whf;Fiw 10000 
tp nghUs; th 4000   
    
 27000  27000 
43M. Kjy; kPJ tl;b  
i)$l;lhz;ik xg;ghtzj;jpy; Fwpg;gplhj NghJ 
Kjy; kPJ tl;b mDkjpapy;iy 
ii) Nghjpa ,yhgk; ,Ug;gjhy;  
mfkJ  = 60000 X 4 = & 2400 
               100 
  g\Ph;    = 40000 X 4 = & 1600 
                 100 
iii) Nghjpa ,yhgk; ,y;yhjjhy; 
mth;fspd; Kjy; tpfpjj;jpy; 3:2 
   
mfkJ  = & 3000   
  g\Ph;  = & 2000   
44.m.ngWjy; & nrYj;jy;fs; & 
 ,U fPnfh 
nuhf;fk; 

 
1000 

,U fPnfh 
tq;fp Nkg 

6000 

re;jh   ikjhd guh 2000 
Ke;ijaMz; 500 fld;kPtl;b 2000 
elg;G Mz;L 9600 kjpg;G+jp nr 2800 
vjph;tUk;M 400 ePh; kpd; fl;  700  
Nghl;epjptuT 5200 tpisNghnr 2600 
capy;nfhil 2000 tpisnghthq; 1900 
muq;fed;nfh 2000 ,U fP, nuhf; 

       tq;fp 
300 
2400 

 20700  20700 
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44.M. tptuk; Rgh Rjh 
31/12/2018 ,Wjp Kjy; 40000 60000 
$l;Lf vLg;G 8000 10000 
 48000 70000 
fopf;f Vw;fdNt tuTitj;jJ 12000 18000 
01/01/2018 njhlf;f Kjy; 36000 52000 
Kjy; kPJ tl;b  
  =Kjy;njhifxtl;btPjk;x tl;bf;Fhpafhyk; 
Rgh Kjy; kPJ tl;b  
     = 36000 x 5/100 =   & 1800 
Rjh  Kjy; kPJ tl;b  
     = 52000 x 5/100 =   & 2600 
45.m.  xg;gPl;L tUkhd mwpf;if 
tptuk; 2016 - 

17 
2017 - 
18 

njhifapd; 
$Ljy; 
$Ljy; (+) 
my;yJ 
FiwT (-) 

rjtPjj;jpd; 
$Ljy; (+) 
my;yJ 
FiwT (-) 
  

tpw;gid 
%yk; ngw;w 
tUtha; 

30000 45000 +15000 +50 

(+) ,ju 
tUkhdq;fs; 

4000 6000 +2000 +50 

nkhj;j 
tUkhdk; 

34000 51000 +17000 +50 

(-) nryT 10000 15000 +5000 +50 
tupf;F 
Kd;dH 
cs;s 
,yhgk; 

 
 
 

24000 

 
 
 

36000 

 
 

+12000 

 
 

+50 

fopf;f - 
tUkhdtup 

7200 10800 3600 50 

tupf;F 
gpd;dH 
cs;s 
,yhgk; 

16800 25200 8400 50 

45.M. ruhrhp ,yhgk; = nkhj;j ,yhgk; 
                 Mz;Lfspd; vz;zpf;if 
= (30000 + 32000 + 35000+ 37000+ 40000)  
                5 
         =  & 34800 
ruhrhp ,yhgk;  34800 
(-) $l;lhspfSf;fhd Ciog;Gjpak;   2800 
ruhrhp ,yhgk;  32000 
 
rhjuz ,yhgk;  
= gad;gLj;jg;gl;l Kjy; x rhjhuz ,yhg tpfpjk; 

= 1200000 x 20  =  & 24000 
          100 
cah; ,yhgk;  
= ruhrhp ,yhgk; - rhjhuz ,yhgk; 
 
=  32000 – 24000=  & 8000 
ew;ngah;  = cah; ,yhgk; x nfhs;Kjy; Mz;Lfspd;            
                        vz;zpf;if 

= 8000 X 5  = & 40000 

46.m. rh;kpsh kw;Wk; rq;fpjh epWkj;jpd; 
nghJmsT epjp epiyawpf;if 
tptuk; rh;kpsh 

njh 
nkh 
nrh
% 

rq;fPjh  
njh 

nkh 
nrh
% 

gq;F %yjdk; 
kw;Wk; nghW 
gq;FjhuHepjp  
ePz;lfhynghW    
elg;GnghWg;G 

 
 

500000 
400000 
100000 

 
 

50 
40 
10 

 
 

1100000 
700000 
200000 

 
 

55 
35 

 10 
nkhj;jk; 1000000 100 2000000 100 
nrhj;Jf;fs;  
epiyr;nrhj;J 
elg;Gr; nrhj;J    

 
650000 
350000 

 
65 
35 

 
1800000 
200000 

 
90 
10 

nkhj;jk; 1000000 100 2000000 100 
 
46.M. Gwmf nghWg;Gfs;tpfpjk;  
=     ePz;lfhyf;fld; 
       gq;Fjhuh; epjp 
         = fldPl;Lg;gj;jpuk;      
       Neh;ikgq;F + Kd;;D gq; + fhg;Gfs; 
    = 300000        =   300000  = 0.5 : 1 
 250000+200000+150000     600000 
chpikahsh; tpfpjk; =      
       chpikahsh; epjp / gq;Fjhuh; epjp 
              nkhj;j nrhj;Jf;fs; 
=   600000  = 0.5 : 1 
    1200000 
Kjy; ce;J jpwd; tpfpjk; =      
 epiyahd tl;b kw;Wk; epiyahd gq;fhjak; <l;Lfpd;w epjpfs ;  
             Neh;ikg; gq;Fjhuh; epjp  
epiyahd tl;b kw;Wk; epiyahd gq;fhjak; 
<l;Lfpd;w epjpfs;  
   = 6% Kd;;D gq; + 8% fldPl;Lgj;juq;fs; 
    = 200000+300000  = & 500000 
Neh;ikg; gq;Fjhuh; epjp  
        = Neh;ik gq;F + fhg;Gfs; 
= 250000+150000  = & 400000 
Kjy; ce;J jpwd; tpfpjk; =    
    500000  = 1.25 : 1 
    400000 
47.m. 
elg;G tpfpjk; =    elg;G nrhj;Jf;fs; 
                     elg;G nghWg;Gfs; 
=   600000  = 1.5 : 1 
    400000 
tpiuT tpfpjk; =  ePh;ikr; nrhj;Jf;fs; 
                   elg;G nghWg;Gfs; 
ePh;ikr;nrhj;Jf;fs; = 600000 - (160000 + 40000)  
                                          = 400000 
 tpiuT tpfpjk; =400000  = 1 : 1 
              400000 
 
 



47.M. 
 
nkhj;j ,yhg tpfpjk; =  
     nkhj;j ,yhgk;        X 100;  
tpw;gid %yk; ngw;w tUtha;  
  
tpw;gid%yk; ngw;wtUtha;fhd mlf;ftpiy 
= nfhs;Kjy;nra;jruf;F+ruf;fpUg;Gkhw;wk;+ Neub nryT 
= 210000 + 30000 = & 240000 

 
nkh.,yh = tpw;gid %yk; ngw;w tUtha; - 
tpw;gid%yk; ngw;wtUtha;fhd mlf;ftpiy 
= 400000 - 240000 = & 160000 

 

= 160000 X100   = 40% 
 400000        
epfu ,yhg tpfpjk; =  
thpf;F gpd; cs;s epfu,yhgk;   X 100;  
tpw;gid %yk; ngw;w tUtha;  
= 80000 X100   = 20% 
 400000 
 
,af;f nryTfs;  
= ephthfr; nryTfs; + tpw;gid gfph;khd nryTfs; 
+ gzpahsh; eyDf;fhd nryTfs; 

= & 60000 
 
,af;f mlf;f tpiy  
= tpw;gid%yk;ngw;wtUthaf;fhd mlf;ftpiy + 
,af;fr; nryTfs; 

= 240000 + 60000 = &300000 
 
,af;f mlf;f tpiy tpfpjk;           
=                ,af;f mlf;tpiy     X100   
tpw;gid %yk; ngw;w tUtha; 
= 300000   X100 = 75 % 
  400000 
 
,af;f ,yhgk;  
            = nkhj;j ,yhgk; - ,af;fr; nryTfs;  
  = 160000 – 60000 =  & 100000 
,af;f ,yhg tpfpjk;           
=                ,af;f ,yhgk;    X100   
tpw;gid %yk; ngw;w tUtha; 
= 100000   X100 = 25 % 
  400000 
 
 
 
 
 
 
 
 
 
 


